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PRINCE OLYMPIAD EXAMINATION

Instructions regarding filling of OMR Sheet are
mentioned on the OMR Sheet only.

The duration of the exam is 12 Hours.

The Question Booklet consists of 100 Questions,
each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Maths-25, Science-25, S.St.-20,

y o

&

B =2prcr i
30w 3112, offe Jvaf~erd fcer 3iuw.3MR. offe we fera 31

uelen 3mafér 114 que E

e URlen YRl # 100 T 3 aol Uedl W 4 3l &l
2 1 3iférepa 3id 400 31

O 100 Ul @ fauear fdaeur 38 UdR 2 : a1fird-25,

English-20, MAT-10.

&  Candidates will be awarded 4 Marks for the | &

indicated correct response to each question.

&  One mark will be deducted for the incorrect |

response fo each question.

&  Space for rough work is also provided in the |

Question Booklet.

fastH-25, Ammii® 31e-20, 3iakR-20 3l AFfaD
TloTd wleiur-10 e |
IE 3ue ¢ ue ufd wed 4 3id UeH fial SRiol |

eId 3@ GIf UR ufd ues 1 3ic iel SiRion |

wlen yfedot # 26 o & foe 3 sicor A sior QA oRi
3

—  "MATHS }—+«————

If p: when a positive integer and a negative integer are ! 01. IS p: 4 Th IATHD T’TI‘CE 3R Udh HUTHD TTI—CE

01.

02.

added we always get a negative integer and q: when |
two negative integers are added, we get a positive |
integer, then. I
(1) Both p and q are true

(2) p is true and q is false

(3) p is false and q is true

(4) Both p and q are false

Three times one number is equal to five times the other.

(1) 25 and 55
(2) 50 and 30
(3) 45 and 35

I
I
I
I
I
I
If the sum of two numbers is 80, find the numbers. I
I
I
I
(4) 60 and 20 I

02.

SITST SITdl & f &4 SHEI Ueh SRUMCHD YUl YT Bl
g 3R q: O1d ]I TS YUl il o 6, Al 89 Ud
gD YUIieh T Il o, o |

(1) p 3R q 9 ¥ &

(2) p 9 © 3R q 3\ T

(3) p I & 3R q T &

4) p 3R q THI 3T &

2 | If 1 ARl &1 ANT 80 &, Tl HEATY ST BIfTg |
(1) 25 3R 55

(2) 50 3R 30

(3) 45 3R 35

(4) 60 3R 20

Space for IRough Work

PCP, Sikar
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03. The expression [(2)*+(3)+(5)°]° is equal to I 03. D [(2)*+B3)+(B)°]° WER B e
(N3 )1 | (N3 )1
(3) 10 4)0 | (3) 10 4)0
I 1
04. The side of an equilateral triangle is 5 cm. The perimeter | 04. U HHETG 2ol @ Yol 5 T T 29[Sl T aiEg
I
the triangle is | 2
(N1 2)2 : (N1 2)2
3 3 . :
3) E (4) None of these | 3) E (4) 74 9§ Pl B
05. The range of the weights (in kg) of students of a class I 05. =1 < IS Fell @ Bl @ vR (fhalum #) @ . &
given below is: 49, 60, 47, 50, 47, 59, 58, 45, 53 | 49,60, 47,50,47,59, 58, 45,53
(1) 10 )15 | (1) 10 )15
(3) 20 )2 I 4) 20 42
06. Mean of the first six prime numbers is I 06. TSl ©F IIMSI RN &I AR o
e o e
. . | . .
07. The probability of an experiment cannot be greater | 07. B TANT &1 GHIIAT SHY 31fdd I8! 81 Fddl
than: I
(Ho (2)0.5 : (Ho (2)0.5
31 42 | 31 42
08. The solution of the equation -2(x + 3) = 4 is | 08. ¥HIBRUT - 2(x +3) =4 BT A ©
(1) -2 (2)-3 I (1) -2 (2)-3
(3) -4 ()5 NG ()5
09. In an isosceles triangle, the base angles are equal to : 09. ¥ ¥ JART H, FAfGATg RIS, PR BT 50° &
50°. The vertex angle is | IR B | Y PIvy B
(1) 45° (2) 80° | (1) 45° (2) 80°
(3) 75° (4) 85° I (3) 75° (4) 85°
10. Find the measure of the angle which is double its I 10. S DI BT AU ST BISTY S 3 YR DIV BT Q[T
complementary angle ? I 4
(1) 60° (2) 30° | (1) 60° (2) 30°
(3) 45° (4) 120° | (3) 45° (4) 120°
Space for Rough Work
PCP sikar Class : VII/Q-3 I IT-JEE | NEET | OLYMPIADS 2
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11. When an arm of an angle is extended then the measure I 11. 9 fBH DI BT Up Yol 9@T5 STl & dl DIVl BT ATU:
of angle: |
(1) doubles | (1) SRAT 81 ST &
(2) triples I (2) foRTAT &1 o @
(3) remains the same : (3) 98! /T B
(4) none (4) IS 8!
12. The ratio of the measures of the three angles of a triangle : 12. S & A1 1o & AUl &7 3UTd 2:3 0 4 & | Fad
is 2 : 3 : 4. The measure of the largest angle is | S IV P HIT o
(1) 80° (2) 60° I (1) 80° (2) 60°
(3) 40° (4) 180° | (3) 40° (4) 180°
13. Which of the following cannot be the sides of a right I 13. Fr=IfaRaa 3 | & FHaIT RIS & 4ol 81 8
triangle ? | Al § ?
(1) 2 cm, 2 cm, 4 cm | (1) 2 91, 2 99, 4 9
(2) 5 cm, 12 cm, 13 cm I ()5 o 12 9 13 9
(3) 6 cm, 8 cm, 10 cm I (3) 6 T, 8 T, 10 WA
(4)3cm, 4 cm, 5 cm | (4) 3 9, 4 9L 5 9
14. If AABC = APQR, then which of the following is | 14. af& AABC = APQR, @ ¥ # & @I &1 Wiy +Tet
not true ? | 4
(1) BC=PQ (2) AC=PR I (1) BC=PQ (2) AC=PR
(3) QR=BC (4) AB=PQ : (3) QR=BC (4) AB=PQ
15. A shopkeeper offers a 10% discount on the marked price | 15. U SHMER 37U WA & 3ifdhd e R 10% Bl G
of his articles and still makes a profit of 20%. What is | AT B 3R R 41 20% BT ™ HHIET B | SHd 1T 500
the actual cost of the article marked Rs.500 for him ? | S 3ifdhd AHM &I IRAfdd TRTd a1 © 2
(1) Rs 350 (2) Rs 375 : (1) 350 39 (2) 375 TT
(3) Rs 400 (4) Rs 300 (3) 400 3UY (4) 300 TTY
16. Ifa.b and ¢ are whole numbers, then a+(b+c) = (a+b)+c. I 16. IfT a, b 3R ¢ T’T Y B, Gl at(b+c) = (a+b)+c 3
This property is called | 30T DI HET Ol ©
(1) associative property | (1) srEed o7
(2) distributive Property I (2) faeor o
(3) commutative property | (3) fafsa 0T
(4) Closure property | (4) Hga o1
Space for IRough Work
PCP, siar  Class:vijas | IIT-JEE | NEET | OLYMPIADS 3
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17. AGiven AB =3 om,AC = 5 cmand /B=30°, AABC | 17. f&a1r 731 @ AB = 3 cm, AC = 5 om, eIl

cannot be uniquely constructed, with AC as base, why ?

(1) Two sides and included angle are given
(2) The other two angles are not given

(3) The vertex B cannot be uniquely located
(4) The vertex A coincides with the vertex C.

/B=30°, AABC @I 3R AC #-aR 3Mfgia ®u 9
T 91T ST AT, e

(1) 7 oIg qem afeafera @ior fog 1w

(2) 3= <7 PIoT T8 fdw v &

(3) I¥ B &I faftre wu & Rera 1281 fovar o1 Apar
4) Y A, Y C & A1 HuRl B |

I
I
I
I
I
I
I
18. How many perpendicular lines can be drawn to a line | 18. Ud fdg W, Sl 99 31 W) I &, Uh W1 WR fdhaeil dq
from a point not on it ? | RV Wi o Gl § ?
()1 Q)2 I 1 Q)2
3)0 (4) Infinite I 3)0 (4) 3rFd
19. A rectangular wire of length 40 cm and breadth 20 cm is | 19. 40 cm H4TS TAT 20cm IS a1t Udh MAATDHR AR Dl
bent in the shape of a square. The side of the square is | Uh I B AR H AT AT & | T DI ol g
(1) 10 cm (2) 20 cm I (1) 10 T (2) 20 T
(3) 30 cm (4) 40 cm (3) 30 9 (4) 40 3+
20. When the circumference and area of a circle are I 20. 9 B T @ URR 3R eHhe AEId wY |
numerically equal, what is the diameter numerically equal | IR BI 2, T AT IRATHD ©U ¥ fohaad aR7eR B
to ? | g7
(1) Area (2) Circumference : (1) &=rhe (2) TR
(3)271 4)4 (3)271 4)4
21. When a certain number m, is divided by 5 and added to : 21. o9 o AfYaa S m @1 5 9 fofoa fasan Sirar &
8, the result is equal to 3m subtracted from 4. The value | 3R § # SISl ST ©, A1 gRum 4 # | 3m g Srd
of m is | Tlm @ A4 T
I
3 3 3 3
Okn @ ¢ : Okn @ ¢
5 5 | 5 5
& @~ | & @~
22. In a two-digit number, the units digit is x and the tens I 22. TI 3Pl P WE&AT H, SHTs BT 3idh x 3MR GBS DI 3D v
digit is y. Then the number is | KGRI
(1) 10y +x (2) 10x+y | (1) 10y +x (2) 10x+y
(3) 10y -x (4) 10x -y | (3) 10y -x (4) 10x -y
Space for Rough Work
PCP sikar Class : VII/Q-3 I IT-JEE | NEET | OLYMPIADS 4
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23. Which of the following is true ? | 23, fAfliiRaa i 9 e AT 9@ © ?
(1) 2°=(100)° (2) 102 x 10¥=10"° I (1) 2°=(100)° (2) 102 x 10¥=10"°
(3)22x33=¢° (4)2°>32 | (3)22x33=¢° (4)2°>32
24. How many lines of symmetry are there in a square ? | 24. U® o # fdoc=IT w91ffa @ gl § 2
()1 )2 | ()1 )2
(3)3 4) 4 : (3)3 4) 4
25. Iftwo cubes of edge 5 cm each s joined end to end, find | 25. afq 5 T fIR a1et |1 91 B 3fd ¥ 3fd ad Sirel
the surface area of the resulting cuboid | ST &, Al URUTHT 914 BT U1 &=Ihel 1d BIfoig
(1) 250 cm? (2) 350 cm? | (1) 250 T (2) 350 T
(3) 400 cm? (4) 500 cm? I (3) 400 T (4) 500 wH?
Space for Rough Work
PCP, siar  Class:vijas | IIT-JEE | NEET | OLYMPIADS 5
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|26 O<Hl BT I B &

27.

28.

29.

30.

31.

The main function of a leaf is:

(1) To prepare food

(2)To support the plant

(3) To prevent disease

(4) To give a proper shape

Which part of the plant gets carbon dioxide from the air
for photosynthesis ?
(1) stomata

(3) root hair

The mode of nutrition in which organisms make food

(2) leaf veins
(4) sepals

themselves from simple substances is called

(1) Autotrophic nutrition

(2) Heterotrophic nutrition

(3) Saprotrophic nutrition

(4) All of the above

Which of the following organisms gets its food from dead
and decaying matter
(1) Fungi

(3) Amoeba

Yeast, mushroom and bread-mould are

(2) Algae
(4) Insectivorous plants

(1) autotrophic
(2) insectivorous
(3) saprophytic
(4) parasitic
Numerous small openings observed under the lower
surface of a leaf through a magnifying lens are:

(1) stomata
(3) midrib

(2) lamina
(4) veins

29

30.

(1) AISH TR A
(2) T BT FERT ST
(c) SR BT ApAT

(4) Sfa MdR <A

7. I BT DI AT ART JbTel Gy & foIv ga1 & dra

SIS3rITSS UTK &Rl & 2
(1) (2) Ti fARTY
(3) ST & I (4) 9IS

8. Uy o1 g8 fAfr et Shia wver ugref 9 & wioH

T4 &, PEdrl o
(1) O gy
(2) fawAaY gryor

(3) JTUNT GryoT
(4) SIRKRH AT

. Tr=rferRad & & @i & oflg 94 iR ¥ed Y uared |

T WIS UTW &Rl &

(1) ®ad (2) Saret

(3) 3rTET (4) Prcwel drer
A, 7oy 3R Se—Hlcs &

(1) TaumdY

(2) dicHeN

(3) Harasirdy

(4) URSIdT

. AR o & AEH | T Dl el I8 @ A o
S a1 @S B 9y o

() (2)ycd

(3) #EAfRT (4) oY

Space for IRough Work

PCP, Sikar

Class : VII/Q-3 I

IIT-JEE | NEET | OLYMPIADS 6



| www. princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
32. Length of small intestine is | 32. BICI 37d B ddTy fhasl sl @ 2
(1) 10.5m long I (1) 10.5 #ex &a1
(2) 40m long | (2) 40 HeR a1
(3) 23.4m long | (3) 23.4 MY a1
(4) 7.5m long | (4) 7.5 Hrex ofar
33. The component of food which is complex is : 33. YIS &1 98 9cd Sl offcd o
(1) protein (2) carbohydrate | (1) v (2) TEEESC
(3) fat (4) all of these | (3) T (4) 3 |¥
34. The breakdown of complex components of food into | 34. WO & Sifed gcdl & TR Ucrdl § dreT dedl &
simpler substances is called |
(1) ingestion (2) egestion I (1) 3raudzor (2) ST
(3) assimilation (4) digestion | (3) ATHHATT (4) U4
35. Enzymes present in saliva converts | 35. AR # Hﬁq—c{ UoTTgA gRafdd & @
(1) starch into simple sugars | (1) T Bl |l DA |
(2) proteins into amino acids l (2) WIS B AT Ui #
(3) complex sugars into simple sugars I (3) SIfCeT BT P WA BT H
(4) fats into fatty acids and glycerol | (4) T DI Bl TS SR Faesia #
36. The removal of faeces through the anus from time to | 36. HHI—HH UR &I &b ATIH Y HeT Dl qTeX [T Pl
time is called | ®Ed &
(1) rumination (2) micturition : (1) \_fl'l?'ﬁ DAl (2) AT
(3) ingestion (4) egestion | (3) 3rayzor (4) SO
37. The finger-like outgrowths of human intestine helps to | 37. HIFd 37 BT STl SNl gl wqq el ©
(1) make the food soluble I (1) AT &I PRENIRICEIE]
(2) absorb the digested food | (2) utfera WIS STy =T
(3) absorb the undigested food I (3) uferd A B Taed HeAT
(4) digest the fatty food substances | (4) 991gh Wred Il Bl g1
38. Which of the following is not a part of digestive | 38. fereforRad § 9 &9 ured 9F &1 e T8l 8 °?
system ? |
(1) Mouth cavity (2) Stomach R el (2) AT
(3) Food pipe (4) Wind pipe I (3) AT et (4) Ay, TelT
I
Space for IRough Work
PCP sikar Class : VII/Q-3 I IT-JEE | NEET | OLYMPIADS 7
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39.
40.
41.

42.

43.
44.
45.
46.

47.

PRINCE OLYMPIAD EXAMINATION

Bile is produced by

(1) Small intestine (2) Gallbladder

(3) Liver (4) Pancreas
Humans can digest cellulose:
(1) No (2) Yes

(3) Can't say (4) None of these

From where is litmus extracted ?

(1) Turmeric (2) Beetroot

(3) Lichens (4) China rose

Which acid is found in vinegar according to the
chapter ?

(1) Citric acid (2) Lactic acid

(3) Acetic acid (4) Tartaric acid

What does the neutralisation process produce ?
(1) Acid only (2) Base only

(3) Salt and water (4) Water only

Which substance can be used to treat indigestion ?

(1) Baking soda (2) Lime water

(3) Milk of magnesia (4) Common salt
What is the nature of lime water ?

(1) Acidic (2) Basic

(3) Neutral (4) None of the above
The liquid metal used in a Thermometer is

(1) Mercury (2) Silver

(3) Gold (4) Copper

What is the use of kink in Thermometer ?

(1) It prevents mercury level from falling on its own

(2) It raises the mercury level

(3) It makes the Thermometer look beautiful

(4) It acts as a joint to the glass tube that is used for
mercury and the scale.

4

4

4

41.

42.

43.

46.

I =2pcr i
| 39. ey @1 Seaes fvad gy B &
(1) BIET 3rfa (2) fusrerg
(3) pa YRR
. AT ARGl Bl Ul Hehdll o
(1) =781 (2) &f
(3) TE! @B Had (4) STH 9 DIs 8
forewa wal | Marer orar & ?
(1) got (2) PR
(3) ez (4) AT IS
T & AR ARy § B9 A7 37T T Sl @ 2
(1) wArgieed s (2) fded arer
(3) vfuafew arat (4) TIER® 3rveT
IERAFIEHROT Ufhar T e~ HRell © 2
(1) Dact 3t (2) DA &R
(3) TP 3R g (4) Dact g
3T B STl b fo1Q oo Terel bl SHIRT foham ST AehelT B2
(1) 9fdT |rer (2) T BT U
(3) R Dl ¥ (4) HIER THD
e R R e a2
(1) 3rtra (2) &R
(3) SEIH (4) SIRIG § ¥ Bl A8l
oiHieR # I R a1 ©
(1) URT WEIE
(3) |IFT (4) T
. oMM ¥ fdhd &1 T SUANT © ?

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
y
I

I

I

I

I

0
1
2
3
4.
5
6
7

(1) I8 IR & WR BT 39+ A7 FRA & JAebar &

(2) U8 UR & WR DI 9QKIT ©

(3) IE IHMICY PI Yax I7dT B

(4) I8 IR 3R el B 70 SUIRT & S dredl bid
B Fell D IS B WY § BRI BT 2 |

Space for IRough Work

PCPer

Class : VII/Q-3 I

IIT-JEE | NEET | OLYMPIADS 8



www.princeeduhub.com I

48.

49.

50.
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Stainless steel pans are usually provided with copper
bottom. The reason for this could be that:

(1) copper bottom makes the pan more durable

(2) such pans appear colourful

(3) copper is easier to clean than stainless steel

(4) copper is a better conductor of heat than the stainless
steel.

One litre of water at 30°C is mixed with one litre of

water at 50°C. The temperature of mixture will be:
(1) 80°C

(2) More than 50°C but less than 80°C

(3) 20°C

(4) Between 30°C and 50°C

The substances which conduct heat casily are called:
(1) convection

(2) radiation

(3) conductors

(4) none of these

| 48. wora War & 89 9 adR W G @ e T |

49.

50.

SHDI BT I§ 8l Al & (o

(1) 9 @1 T 99 BT 310w fepre, a9rar &

(2) W 9 Wi fewa €

(3) W Il @I =T H qid Bl AW DT IATH
2

(4) T I DI AT H 1T H™T BT J5aR HaATsd
gl

30°C & Udh oflex Url @l 50°C & U efiex Uil 4

e Sirar 21 fAsior @1 aEE g

(1) 80°C

(2) 50°C ¥ 31ferd <ifchd 80°C | HH

(3) 20°C

(4) 30°C 3R 50°C & <=

T ueref S S ¥ ST BT Wl Bl &, BedTd &

(1) Has=

(2) fafep=or

(3) TP

(4) 579 9 @Iy T8

Space for Rough Work

PCP, Sikar

Class : VII/Q-3 I

IT-JEE | NEET | OLYMPIADS 9
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Cash crop grown in the area of Ganga-Brahmaputra I 51, TT—sETg IR @ &3 § TS ST dTell Tdhd] He—

52.

53.

54.

55.

56.

basin ?
(2) Coffee and jute
(4) Sugarcane and jute

(1) Sugarcane and tea
(3) Coffee and tea
Erode market is situated in

(1) Kerala (2) Andhra Pradesh

(3) Odisha (4) Tamil Nadu
Sankaradeva composed poems and plays in which
language?

(1) Awadhi (2) Gujarati

(3) Tamil (4) Assamese

Hagiography means

(1) Writing of local people' lives
(2) Writing of saints' lives

(3) Writing of untouchables' lives
(4) Writing of kings' lives

The

the pole.

originate near the equator and move towards

(1) Cold ocean currents

(2) Warm ocean currents

(3) High tides

(4) Low tides

A 1is a place where all the MLAs, whether from
the ruling party or from the opposition meet to discuss
various things.

(1) Supreme Court

(2) High court

(3) Legislative Assembly

(4) President House

(1) =T 3R Ty (2) BT AR FT
(3) PIHI 3R =AY (4) =TT 3R T
52, IS IO ... # Rerd &
(1) & (2) 3 u<er
(3) snfsem (4) aferTg
53. 3dxcd A fba AT # Hfaand iR Aed ™
(1) araeft (2) oI
(3) A (4) srafaan
54. Ha-oial &1 aef g
(1) I AR & Siae &l olvg=
(2) Fdi @ Sftae &7 olkad
(3) 3r&Al & ST BT ol
(4) TSIt @ Siiae &l olkad
. e T @ U S0 B § RIR T @l 3R
Ted B |
OESEEECRINN
(2) 7w eI
(3) S =R
4) = WR
56. U TE XA & TTB! T faemae, A I o uet

@ 81 a1 fauet &, fafa=1 Aot iR ==t & @ forv e
=

(1) Hdfed <TATeTd

(2) ST STTeTd

(3) =T |

(4) IrgUfer o

Space for IRough Work

PCPer

Class : VII/Q-3 I
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57.

58.

59.

60.

61.

62.

PRINCE OLYMPIAD EXAMINATION
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Few exceptions about the tribal people is

(1) They did not keep written records

(2) They preserved poor customs

(3) They have written traditions

(4) Customs were not passed down to each new
generation

What do you known by ox - bow lakes ?

(1) Lakes formed from animal participation

(2) Lakes for ox

(3) Cutting of meander loop from main rivers

(4) None of these

When the government prevents either a news item, or

scenes from a movie, or the lyrics of a song from being

shared with the larger public, this is referred toas

(1) Press Conference

(2) Censorship

(3) Telecommunication

(4) All of these

Media decides which subject to highlight and hence

(1) Memorandum (2) Report

(3) Sets the agenda (4) Meeting

Who was the founder of slave dynasty ?

(1) Balban

(2) Qutb-ud-din Aibak

(3) Razia

(4) Alla-ud-din Khilji

What is the time period of rule Ananga Pala ?

(1) 1165t0 1192 (2) 1200 to 1165

(3) 1130to 1145 4 1175t0 1192

|57, anfear ot & R ¥ @@ smare &

58.

59.

60.

61.

62.

(1) ¥ faRaa Rafs T8 wad o

(2) 7 wRE Afa—Rarsll & 997 [ad o

(3) S g ferRad wWuR¢ &

(@) Afd—Rarsr &2 =3 dIdt @1 =T fdu oird o

319 Sifera—al Siiell | o1 S © 2

(1) U3l @7 WRIERT ¥ 91 sitel

() st & ferg sl

(3) T AT A He= U Pl Bl

(4) &9 & BIg TR

4 ERBR [T THrER, A1 [l fhewt & g, AT fad
3T @ dieT bl AP SITdT & ATl /IS B U Uchel]

(3) HAR
(4) T |Er B

Mfsar T axar & & foa fawa @1 gEdEe &A1 &
3R gHfery

(1) =Ima= () Ruard
() TSlST ¥T dRaT & (4) WS
[T T2 T HRATID DI AT ?

(1) geTad

(2) B84 P

(3) o

(4) 3TTT—&—< Raefsir

T UT & T T 9T T © 2

(1) 1165 to 1192 (2) 1200 to 11653
(3) 1130 to 1145 (4) 1175 to 1192

Space for IRough Work

PCPer

Class : VII/Q-3 I

IIT-JEE | NEET | OLYMPIADS 11



www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
63. What percentage of state budget is allocated to I 63. DI H AT goIc BT fdaAT Ufaerd uargd o Jmafed
panchayat in Kerala ? | BT ST © 2
(1) 10% (2) 20% | (1) 10% (2) 20%
(3) 30% (4) 40% | (3) 30% (4) 40%
64. Settlements of peasants, known as . became | 64. et & aRel, = .o & ®Y H SIET A
prosperous with the spread of irrigation in agriculture. : 2, RNaE oY & TR & 91 |99E 8 S |
(1) Uzi (2) Ur | (1) 3ol Q)R
(3) Uri (4) Udi | (3) 3% (4) 38
65. Which of the following rulers involved in the tripartite | 65. FFfetRad # | ®H A1 wmHe el way # wnfie o
struggles ? |
(1) Gurjara-Pratihara, Chera and Pala dynasties I (1) TOR-URIER, =R 3R uTel ord?
(2) Gurjara-Pratihara, Chola and Chera dynasties | (2) TOR-UfIER, Tld 3R TR oIy
(3) Gurjara-Pratihara, Chola and Pala dynasties | (3) TOR—UfIER, @iel 3R Ut oiae
(4) Gurjara-Pratihara, Rashtrakuta and Pala dynasties | @) {L\ﬂ( -YUfER, Igdhe 3R UTeT ToTae
66. Shey in ladakh is a famous . I 66. ERT H T TH UK ... H
(1) Church (2) Mosque | (1) =d (2) A&
(3) Temple (4) Monastery | (3) Hfex (4)Ho
67. The finest cricket bats are made from which wood ? | 67. We¥ d8avA fihbe d¢ fhd sl I g9V I & °
(1) Poplar trees (2) Sal trees I (1) R @ s (2) T & Us
(3) Willow trecs (4) Shisham trees : 3) el & U (4) e & U
68. Pcople who live in Sahara desert are | 68. WERT IR ¥ I8 arel @l ... H
(1) Bedauins and Tauregs | (1) 92189 3R SR
(2) Bedauins and Tuerags | D ESEREISESIE
(3) Bedouins and Tuarega | (3) 98I 3R qar g
(4) Bedouins and Tuaregs I (4) 98184 3R qar g
69. When did Humayun re-establish Mughal empire in India? | 69. gAY < WIRT A YA HREISY &I Y WATYAT Pa Dl 2
(1) 1320 BC (2) 1600 AD | (1) 1320 BC (2) 1600 AD
(3) 1530 AD (4) 1324 AD I (3) 1530 AD (4) 1324 AD
70. What was the capital of Mirza Hakim Akbar's half brother? : 70. B & Aldel A5 ASH FHA DI ASET @7 o ?
(1) Kabul (2) Afghan | (1) oI (2) JPHITH
(3) Morocco (4) Sind | (3) AR (4) faer
Space for IRough Work
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72.

73.

74.

75.

76.

77.

Choose the correct determiner to complete the sentence:
He didn't make mistakes in his essay.
(2) much
(4) any

Select the correct determiner:

(1) many
(3) some

There is ____ sugar left in the jar.
(1) a few (2) few
(3) little (4) some

Which determiner best completes the sentence ?
_____ people were interested in the lecture.
(1) Much (2) Several

(3) Little 4) A few

Identify the appropriate determiner:

of the students passed the test.

(1) Any 2)All

(3) Some (4) Neither

Choose the correct determiner:

Is there _ milk in the refrigerator ?
(1) any (2) many

(3) few (4) several

Choose the correct verb form to complete the sentence:

By next week, she __ (finish) her project.

(1) finishes (2) will finish

(3) will have finished (4) finished

Select the appropriate tense form:

Ifthey  (study) hard, they would pass the exam.
(1) studied (2) study

(3) had studied (4) are studying

79.

80.

81.

82.

78. Which verb form correctly completes the sentence ?

The train

station.

(arrive) before we reached the

(1) arrives (2) will arrive
(3) had arrived (4) has arrived

Choose the correct verb form:

She (work) in this company for five years now.
(1) works (2) is working
(3) has worked (4) worked

Identify the correct verb form:

By the time the police arrived, the thieves
(escape).

(1) had escaped
(3) have escaped

(2) escaped

(4) were escaping
Choose the correct passive voice form:

They are building a new bridge in the city.
(1) A new bridge is being built in the city

(2) A new bridge was being built in the city

(3) A new bridge has been built in the city

(4) A new bridge is built in the city

Select the most appropriate passive voice of the given
sentence :

The manager will review the reports.

(1) The reports are reviewed by the manager
(2) The reports were reviewed by the manager
(3) The reports will be reviewed by the manager

(4) The reports are being reviewed by the manager

Space for Rough Work
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83.

84.

85.

86.

PRINCE OLYMPIAD EXAMINATION
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Which sentence is correctly transformed into the passive
voice ?

Someone has stolen my bike.

(1) My bike was stolen

(2) My bike has been stolen

(3) My bike is stolen

(4) My bike had been stolen

Identify the correct passive voice form:

The teacher gave us homework.

(1) Homework is given to us by the teacher

(2) Homework was given by the teacher

(3) We were given homework by the teacher

(4) We are given homework by the teacher

Choose the correct passive voice:

They are going to launch a new product.

(1) A new product is launched

(2) A new product will be launched

(3) A new product has been launched

(4) A new product is going to be launched

Choose the correct linking word to complete the

sentence:
He failed the test,  he didn't study.
(1) although (2) because

(3) however (4) therefore

87.

88.

89.

90.

Select the appropriate linking word:
I wanted to go to the party;  , I had to work late.
(1) because

(2) therefore

(3) however

(4) although

Which linking word best fits the sentence ?

We were tired;
(1) therefore
(2) although

(3) but

(4) nevertheless
Identify the correct linking word:

_, we continued our journey.

_ he was ill, he attended the meeting.
(1) Although

(2) Because

(3) Therefore

(4) However

Choose the correct linking word:

She was angry,  she kept quiet.
(1) so

(2) yet

(3) but

(4) because

Space for Rough Work

PCP, Sikar

Class : VII/Q-3 I

IIT-JEE | NEET | OLYMPIADS

14



WWW. prmceeduhub com

PRINCE OLYMPIAD EXAMINATION

F =pcer NI

E(MATJE

Look at this series : 2, 12, 30, 7,90, 132 ... What number | 91. $¥ 3%geTl &I 7@ 2, 12,30, 2,90, 132 ... B9 Al &=
should come (?) ? : Y =Ry (?) ?
1) 48 2) 63 1) 48 2) 63
23; 56 24; 7 | 23; 56 24; 7
. | . .
92. Lookatthisseries 1,4, 15, 64,325, ........ What number | 92. 39 4%dell B1 W 1,4, 15,64,325, ... D d1G DI
should come next ? | T AT /T ARy ?
(1) 1630 (2)2275 | (1) 1630 (2)2275
(3) 1956 (4) 1950 : (3) 1956 (4) 1950
93. AAF, AEF, AIF, AOF, ......... | 93. AAF. AEF AIF, AOF, ...
(1) PIG (2) AUF | (1) PIG (2) AUF
(3) JUF (4) POT I (3) JUF (4) POT
94, CX,FU,IR, ............. 94, CX,FU,IR, .............
(1) LO (2) HS I (1) LO (2) HS
(3) GT 4) IR | (3) GT 4) IR
95. AC,EGIK, ............. | 95. AC,EGIK, .............
(1) MO (2) MN I (1) MO (2) MN
(3) LM (4) HP : (3) LM (4) HP
96. Sort these words into alphabetical order and mark the | 96. S UK! Pl qUHIAT HA H FART BN AR 3ffcH Bi
last one. | fafed a3 |
(1) Hobby (2) Holiday | (1) Hobby (2) Holiday
(3) Hollow (4) Hobble | (3) Hollow (4) Hobble
97. Which letter is the exactly between 3™ letter from left : 97. IS TUHTAT # 910 I AN 31811 3R 10 I 149 3R
and 14" letter from right in English alphabet ? | & 41 H B AT MR B ?
(H)H )G | (H)H )G
(3)F @4 E I (3)F @4 E
98. If x means +, - means x, +~ means + and + means -, then | 98. =fy « @7 aref + T, - @1 3Rf x B, + BT 3Rl + 8 3R +
(15-30+30) x 14+12 =7 I ®1 31ef - B, Tl (15-30+30) x 14+12 =17
(1) -1 (2)2 | (1) -1 (2)2 |
(3) 4 (4) None | (3) 4 (4) IS 8!
Space for Rough Work
PCP sikar Class : VII/Q-3 I IT-JEE | NEET | OLYMPIADS 15
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99. IfQ means ‘add to’ , J means * multiply by *, T means I 99, AfE Q F1 31 ST &, J T 31f o B, T BT 37
TSI § 3R K &1 3ef 9T %,
60K2Q6J12T10="?

‘subtracted from” and K means ° divide by*, |
60K2Q6 J12T10=" |
(1)92 (2) 82 | (1)92 (2) 82
(3) 72 4)77 | (3) 72 4)77
100. Select the correct set of symbols which will fit in the : 100. 9Tl b1 HE! |HE g Sl 3T T¢ WHRvT 4 fthe AT
I
I
I
I

2016 4 5 =24
(1) X, XX (2) ) +: X
(3) X, +: X (4) +: - X

given equation 20 16 4 5 =24
(1) X, XX (2) ) +: X
(3) X, +: X (4) +: - X

Space for Rough Work

PCP sikar Class : VI1/Q-3 I IIT-JEE | NEET | OLYMPIADS 16



J

India’s Largest Talent Hunt Examination

O,

Class V-X & XI-XII Science

2024

Your Search will End Here...

CRREER 5,
Tee. Nié

IIT-JEE | NEET | OLYMPIADS |STSE

Win Exciting Prizes & Scholarship

Phase - 1 (Date : 29.09.2024)

ANSWER KEY

Class Vil Code | Q-3
Que. 1 2 3 4 b 6 7 8 9 10 | 11 12 ( 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
Ans. 4 2 2 3 2 3 3 4 2 1 3 1 1 1 2 1 3 1 3 4
Que. | 21| 22 | 23 | 24 | 25| 26 | 27 | 28 | 29 | 30 | 31| 32 | 33| 34| 35| 36 | 37 | 38 | 39 | 40
Ans. 3 1 1 4 1 1 1 1 2 3 1 4 4 4 1 4 2 4 3 1
Que. | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | b2 | 53 | b4 | b5 | 66 | 57 | b8 | 59 | 60
Ans. 3 3 3 3 2 1 1 4 4 3 4 4 4 2 2 3 1 3 2 3
Que. | 61 | 62 | 63 | 64 | 66 | 66 | 67 | 68 | 69 | 70 | 71 | 72 | 73 | 74 | 75 | 76 | 77 | 78 | 79 | 80
Ans. 2 3 4 2 4 4 3 4 3 1 4 3 2 2 1 3 3 3 3 1
Que. | 81 | 82 | 83 | 84 | 85 | 86 | 87 | 88 | 89 | 90 | 91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
Ans. 1 4 2 3 4 2 3 4 1 2 3 3 2 1 1 3 1 4 1 2

The Knowledge Power House

PRINCE EDUHUB

Coachings | Schools | Colleges

IT-JEE | NEET | CBSE | RBSE | ICSE | NDA | DEFENCE | UG+Competitions
Palwas Road | Piprali Road, SIKAR (Rajasthan) INDIA | Helpline : 9610-89-2222 | www.princeeduhub.com




	Class-VII.pdf
	1: Class-V
	2: Class-VI
	3: Class-VII
	4: Class-VIII
	5: Class-IX
	6: X
	7: XI-Bio
	8: XI-Maths
	9: XII-Bio
	10: XII-Maths


